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u(t) = u′
1(t) + u′

2(t) =
R2

R1 +R2
u1(t) +

R1

R1 +R2
u2(t) � !
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SNR = 10 lg
P ′
1

P ′
2

= 20 lg
U ′
1

U ′
2
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U ′
2 = U ′

1 · 10−
SNR
20 , U2 =

R2

R1
U1 · 10−SNR

20 = 0.7589 V �)!
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ADC �������1

T

∫ T

0 u(t)dt
ux(t) u2(t) u3(t)
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u2(t) = k · u2
x(t) �*!
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� k = 1
1
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u3(t) =
1

T

∫ T

0

u2
x(t)dt �-!
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uki(t) = − 1

RC

∫
ube(t)dt �0!
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RC = T �3!
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ux(t) = Up · sin(2πfxt) �4!
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u3(t) =
1

T

∫ T

0

u2
x(t)dt =

U2
p

T

∫ T

0

sin2(2πfxt)dt =
U2
p

2T

∫ T

0

(1− cos(2π 2fxt)dt =
U2
p

2
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ux(t) = X0 +X1 sin(2πfxt) +X2 sin(2π2 fxt) + ... � 6!
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u2
x(t) = (X0 +X1 sin(2πfxt) +X2 sin(2π2 fxt) + ...) · (X0 +X1 sin(2πfxt) +X2 sin(2π2 fxt) + ...) �  !
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L1,2 = k
N2

1,2

l/2± x
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N1,2 = N
l/2± x

l
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kN2
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Uki
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Uki = UT

(
ωL2

ω(L1 + L2)
− 1
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Uki = −UT
x

l
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Uki,max = UT
xmax

l
= 2.0 V � 0!
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Uki,0 = −UT
x0

l
és y = c · x0 � 3!
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Uki = −UT
y

l
= −UT

c · x0

l
= −c · UT

x0

l
= c · Uki,0 � 4!
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